%

\ \F% - 1> S ¥ g 4 f A : S S /NS , & , N
2 ; S s " p A R ’ NN K7 AL
S AN

g

e @
7

22

X
9

VENEDDA  VETRO
TAZIONE DI CONTESSE

S
\

X
2,
X
%

KRG
0,
0‘ /

N

= j 5 & A g ¢
[ = ) s /a \ £ A A 3 4 /A8 P \ A Q { \ q X 0.5 b

»
e S
SO R ) Q NN S N &y AARY P R #%J Y /SVN;
- ) 4
2

Ny

T=—

KT
[
L]
XXX

Y 2

VAR
S
C
)
&
O o]
—_ (-
s a
@ 0
< ©
ko) o)
o 0
© S
w. 8
5 =
() )
= [
O O
O c
O ‘5
2 o 2
o = c
— m —
2 o
3 -
m = /O (]
w S G © o)
o
- O - o
[ D Q. m
O o) w O] w—
= 0
3 o [\,
= o)
Q mm o . o
2 O T
Q N O w LM ® ©
2 O %) O N
— f @] = wn
..m\o..m.wl ) O L
o = ) % 4 .I O — o)
o = O © T 5 < 2
- o & C
[0} o Uh |O O a O e [l
o v © 9 G o 2 s c Ll o
5 2 o v @8 g € %= 5 5§
-— Y— -
° 2 o o | m.ammm > o
_ o) n
o o B2 Y g o ©° 0 3 < )
© o © o = . o S
c £ £ E o O c
L 2 s & = © = 5
L _ S 5 & 9o © o 5 ._ & = __H )
Lol < 2 S S = = ©T % o <
_ N _ o o o © T g 3 v
= 2 5 + 2 c —-— © © AN
< = - 9 o o o 2 c 2 0 o
— s o = = C . o £ @ = = =
— o O — O
Lo M £ H O O o 2 mqmqu - ..M.m = O
— Q © < a = N O a
M AMn © 5 o O S O o o o —4 9 o o
= e) dem cC C o O <
- O T © ° = 8 = O B oo 0
<C O 35 Ut.ll”@ - me....u — 5= %)
= w2 £ 5 o o % © & 0 o
O — o g < < o » o g5 0 Mm 5 o ™ o ¢
— ANd © N O o c o = 7 BT > . O @O = g
L ‘C O O Ie) [O) 1) S.SG.LH
= P@ed o ‘D » © c Q < n 3
X S N&< € . . 2 8 8 _ o £2 o 4 ©258535 8
- D £ ¢ ©w <c c ¢ L c S N 1 B 5 ¢ O
= x N 5 o6 o 5 2 9o 92 £ g LI ©9© » o 5
- _| a N =2 © o 5 N N o = o A £ o @ v
— a - =
" = O = .= + O o &
_I_I_SU o T C C c ) C )] 1%} Cc O =X ©
_ O %) = b ) ) e 0] n © 37 L] < -
L O o £ © = £ 0 o = O £ S o v 9 o
: L ©CE S S 0= e648 Z 28555
== T N T T R R O o0 29 W
O = _ _ _— = o ¢ o
m o ° N MmO+ 0 © N O O O N 3 e 8! g
] 1 o © © © O O O O O O <& - e = <
Lud OSCCCCCC o O O o o L _Gk_u__.r_
= A O > 2> 2 2 2 2 D O 2 35 35 LI 88 o wvm o
_1 — L o u un u u u n u 0 n n O L b o~

N

& _m,

) g
8

N B
—
I

—
4 N [ N\ [ 4 = N
o ([ A (o 1 [ ) ==
- N o z b A T o =
p— L%m =z ~N = = 54~ o |a|a
o o TO0Zn T o N o < 2 - Z Q=3 O S ¥3
o .2 z P8 I 9 r Ul ] 3% Yo s - =
Ll - << o o o < — Ll
L O & E a O = 5 ~ L AN O - o
8] =2 O L = 7 : o o = 5 & 2|12
© c 2 ES .S 6 ¥, 5 _ " > : 3 =X a S 2= 22
5 = %4 o . <y = > . e <C = - o s n o |
S O o 209 ;789 5 58 28 EF — et > 3 EES N O 2 ez
S5 =2 Ccc ol 6 = £ 3. 024 = 5, o™ Ty m_ g2 o =2
-+~ % = 0 O Cr o 5 a o S W £3 L < = e N N =
—_— - = —
S o S * 9 P59 E Yo 28 2 oF Z z = 2 F = > o R
= > 25 7 .3 ax O oo < © O g0 = e X < n " n| o=
= -+ < _ < — oz . : T S|
O o O O Wy 2 Uh o =np £ £ 20 < < 5B O 4 B <C w O o |8l
O .. T .. Z Z = ¥ 4] o O L | o
) r o 55 PHs o9 ¥ © o z I o = —_— = q o 0 - |
O _ _ Py =5 .. . BB < o = (N ; e o Ll (@)
= %) 5< .m ¥R« oL W W @ W )« <2 =B < W O
s ¢ < 4 235 5562 50352 F3 @@k o 3 2 O O ¢ a9 = I N 2 2 o
% oW —53<3 933 Y3 _ _ _ _ _ 5 g 58 o 0ES N < O — o
(@) <C )] TCRA SECA TC Pz N v c N c & =
=QO DL = 0O 0o oo o o 2 AR << O nys = S =
] . PNOVS anLno wp 22 2 2 24 & 5 T|_|_|_ ) SS9 Hw =4t % Z 5 T o
XXX Lol zZz Z Z Z Z B S . o o Ll i =
| KL Lol 0 Ll e - Q o b e
— 1 S8 N = = = =4 = p < <35 EZ o - m | = ©
A 1 | | LR R S S Sy Ry Ry By o £ it —— : o, 2 _HmG S L =
e 1 KRS S22 2 2 2 o - Lo |2 wg 3o iy g — <wg °
9203020 I — 2 o o x £ b —
XX ) K ATM Z 5 5 == N O
Lyl . ! B XYY Y : A - _|lo W | [esEsaE5 | |PS lZwe 2 o
Q8 NN k = = : 20Y Dy @ t Lud
= . l i L ) = e B QE 3 N <220 = E O < & P
. E . & S ZE <20 s| X Z2 E B o
Lo S o 92 T~ E 2 ¢ o | Do |x28eg8z Y <50
" O . st T8 o | Z08E5Z 2l = @ L] <
n Sx s X A QY | —l| @) w o m +— [
0 7= S ~ EE 1 b 1] L
M : 5 7 ; 4 Q K% 1loktaozz | |23 SlW=x=3Z(] 2 &5
10 = X : o N=
= O g < 2 O 2= < 1x=20 =5 5 2 £ 5 = = 5= 9
R ™M m — \ ﬁ = ‘= el = U = 1 . © [0} Q — Lo =
- > . o 1= n IS O w
@) o . O % < g £ = B S—— Lo @) %_Alm Al =5 £- e = s o E < =< 55 =
— n - L = ~ £ = = =3 g . = =2 =z %) )
.— O N N E— o 8 — — N = JC I O ey
Z | c 0 | . 5 23 i 0 £ = | xZ - <g << g ® o Wk ol 2 |
(7]
N o 9 ~ 2 g W 5 oF Qw : = r < LS % o 2 D = < ~IRE N
o = o > S 5o & 3= G o QO ;B —J QL oo 5= £ 5= E nx © — N
L @) C N = m =2 0 £3 35 » ~ N 2 — o« T = i Ll N
_ O = &5 T = i 8k g QO 8 < ) I q "z 0 ™ ¥ )
.. o . o .m NO) zZ =2 & . > L — >
ADn o o 0O w o Ll =0 &_- O g-<o 5<0 < o\ %© = N\ g = S - < e < = r < O =
O -+ 4+ O = = & %) .. m x O . ; ~ g = u [T} mo = — <
< O o & o o < 2P VL AL o = < =~ ©B8s = Q 5§ S8 A ©
o > 5 o © S.x E.¥% &.z _.z = © - Vp) 52 8 = o 22, | S2 o 8 »
— C () o Q = N =S<o E<om Wanm a5<m o O S8~ © @] STw A=w N PN L
0 'C = .= c O EJd< EBEJ 9 EZ 4 5 == ___ ° O < °83 LEQ o _
= x > = O < 5502 2o~ 204 Eod 26 = gsE3 - b sgs |“go O — o
N €63 Sv5d 363 oo > o =< 2o B — : E oo< | 22 i o =
O o N — M gs% 5 g fee | 2" a2 S 2
— - — S 8= o o .8 =B < N < L
— e 2
25 ¢ = g £S 6 S e o
L | L <C 85 & o 2 a ) o S0
O) _ — << ﬂlu_ S&3 O - e/ I~ | [}
” =
2 bz > a : glol = =
_ v | F (] -
o ) O : =< : 31C g2 =
= - VAN J U J U ~ ) J \( o y
x
L
A ANn 58 £ o
nc Jie] =) 2
S & gf azs £5 1
2 AN
< S E cOE c C.— ©
A ~ 088 B8=S o3 gES 2
3 %) °2E €T B 08 2
vy 864 Wm@ 5> 52 B
c E O ajp S E
) . © o BoE 370 ..&M 2
T — E2g ©g ®g S35 4
B - [
T T 22 500 f 5 s
~ . Lo ©° o ct -
W e - amw mMm m."m g2 5
5 - 283 g 22 g f
p s 17} = =
T 1T B P
-~ - £0° 3%a g¢ s 5= N
2c o5
/ W mum .Mmm tmm.m 2885 %
3 5 > 4
_\ = m.M..M ”.ma muWu bmwaw
/ - < 885 $5f 8%  _JESS.3
; _ [ = = 5.Q
j a sfe WEE CBE . o5s3E
i QO e a 03 =
i 3 Q E2582,8558° QE8ssTs
| x = 55998859588 o5Pss3e
\ o = _A.mVCseCmmev.ms _UVOCDIOH
' m @) ] [}
\ M ”. < o . . S e o o
/ /
| /
_, /
_ﬂ J T
_ﬂ . s
! \././: -
F P = S :
\ — S o
PR O o .2 B8
- D 2 8 §8% BE
2 2 ? 52 o5 o8 52
[ [t = o £ °
_/ j 3 ) - -
© o _§ oEEBS530¢
< ! - S L1 o oag8 283885
S _ | & M - v°83 Sooo® 050
o & N \ S < _AM T8 v mWo.m.mm.mW
o5 0 \ IR < 5 BE°S ££98rag®
L8 % \ | < o 3 D SESD S A=
R = - % 5%45 NEBTE
Q 7] A
% <2 ZIF s e 3l
< L $o58s EfoBs.Cg5
L] WW WN o IR I VAN S v °ESE? mm.mm.m.mqmm
S5O0 g e Lo ETEELagw
N = s S o 3 Esg5¢ §ef.pestl
e o s I > o o5 2 c23288T8E
NV fre e o 5 Q | 93 = EgoEs 8§rE 88"
S yh/w.?‘ = ////ﬁdw.i N = 79, & ON - Now ok o=
NN\ Y SN ~— N R \ &% < ac o C e ==
SN W Snteo, kS /57 S g < 5825 E3E,BnEc3
Y S S » . SR M 2 < 0EBET _BERLRSPy .
% . JOINS a 1K D . N & mapbam £8835352538 —
) 2 R KRR = w
, T SN TR, . NN < o S g, ..
=NIE) : ) . ,/@ﬁ%%m«&... N -
SD ey CRNTE , | , Vs :
i AR N R W
/g B \ >
N - S ¢ @ /
Y <
N\
S
<4
& r///'zzz w A b = ,Inff/t//MNM,MN”//. % ﬁ
.,,,,,J,/m% \ \ S ,/,,/% 2 \ ) ﬁUy//éZ/.Z
2 % \ ) \{ v /.V/w.,,////////
Wyt ; el N e S e el
g AHE . AUN = o ,/4, i
N : SR
S y V//// . SIS
=Y | Nt T e e / £ , N
\= iy i ,,V;V//Ld_. SR ] N Ny
N\ B ¢ &
R
4.;/./0 .
> (G
= BAESANN : ) A\ , ) Y
! S 09//\/.. y L AN . > O T s s
¢ mvar/r/ “,,,» > 9 AV SN W
¢ B W
T N | Y
: ‘V//.,\v J _ > N %)
4 R ) % > X \ 3 A : \ AR\ 2 4 RN
4 & / N )4 e K G ) SN S VO A o £ [%e% 2 R \o»of <
NG 7/ & \ N : . 3 ? S \ X A ~ KX %000/(/ \ =
N % ’ 4 < < ¥ 2 SN | ey A QRE ’ X Y )% SR g XY /LY \s g
Sy N b S B A & 4 A

TR
1w\

SLIN

N




